BANKING AND FINANCIAL MANAGEMENT
First Paper : Project Planning and Budgetary Control

Time allowed : Three hours Maximum Marks 100
Part-A .

L What is ‘Project Planning'? ‘aR@GHT RIS o1 87

2 What is 'Project Life-cycle'? ‘TR Siad—aeh”’ T41 &7

3 Business forecasting is not a perfect Science Why?

EES YEgAE TF 0T U9 g fasi <@g b
4 What is meant by ‘Ploughing back of Profits'?
o & ARG & @I e 37
Define Performance Budgeting. ‘fsaies/ase’ B GRS IR |
What is 'Plant Layout'? "Ga= 3ifRfa-ama— aar &?
Explain the meaning of Profit-Velure-Ratio, ST Sigai bl SFETarie |
What is meant by "Trade. Crédit? “=maiRe WrRa’ | 1 ¥R &7
Name any four Networking techniques used in Project Planning.
RS B 3 e & 9 el S AR (§9) Ae-afeT
Tl & = R | |
10.  How labourefficiency variance is computed?

577 BRI [4=ROT ¥ TOMT S¥ BT SIRiT 7

Part-B '

11. Explainrany four differeces between Budget and Business Forecasting.

FTETT AR FaATTAA § D IR 3R T B |
12 .* P/Vratio for the firm is 60%, variable cost of a product is Rs. 360. Find

out its selling price.
T B B AT STTIR 60 TR & TN TP TS B IR

7T 360 T ¥ 1 SuwT R g T S |
13. A project cost Rs. 50,000, scrap value Rs. 5,000, life 5 years and anmmal
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15.

16.

N7

average income before depreciation and tax Rs. 14,500. Assuming tax
rate at 50% and depreciation on straight-line basis, find out ARR.

T GRAGT B A 50,000 HT, JARME & 5,000 T
e BT 5 9§ T T T Y ¥ @ qfe e I 14,500
TR IR B A X 50 TG q9 T AR Y ugh ¥ A9 §Y

A g &R SR B |
Give the all formulas of control ratios. =103y & TR o |
What is the difference between Budgetary Control and Statndard Costing?
Tl P 9 YA AR Qi 3 T A 67

Part-C

Unit-I
Following are the data relating to marks obtained by 450 students in
an examination in the subjects Statistics and Mathematics:

Statistics Maths
Mean marks (X) | 40 - 48
Standard deviation () 12 16

Sum of products marks deviation from meat 42,0? 3. Find out, equa-
tions for two lines of regression and estimate'te marks obtained in
Statistics for a student who has secured 60 marks in Maths.

Rt T § 450 TRENRRT DoRES AR @ D D J

TR 3ibS 3T JPR & - .

N\ iRkt NG
ey 3P 40 48
gAY = () \ 12 16

ATed & SIS 3 fagel @ a9 42,075 Tl
Wmﬁraﬁmﬁ%aﬁfmmammﬁmﬁﬁﬁ 60 3H g
3 T ey wiked § wis 3 ST & S B |

‘ Or

Whatydo ‘you mean by Business Forecasting? Throw light on its
impottance and limitations.

WW%WWW%?WW@@W&#W
gl ST | . n"
nit-

The Alpha Co. Ltd. is considering the purchase of a new machine.
Two alternative machines (A and B) have been suggested each cost-
ing Rs. 4,00,000 . Earning after taxation and before depreciation are.
expected to be as follows:

Cil WMWWWW$WWWWY§EIH\
Yopfegs AT (A STl B) o1 g faan 7 & R ue 7 B
@TTd 4,00,000 ST 2 | B TTE 991 g g9 ol rferfea ¥

Cashflow

Year Machine A Machine B
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18.
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Rs. Rs.
1 40.000 1,20,000
2 1,20,000 1,60,000
3 1,60,000 2,00,000
4 2,40,000 1,20,000
5 1,60,000 80,000

The company has a target 6f return on capital of 10% and on\this
basis, you are required (o compare the profitability of thé\machines
and state which alternative you consider financially préferable?

S BT Yol TR 8T G- SX 1 0 YR & <o [0 39 e 9%
AT 6 ATIERIGaT B o DI qo Gqred 1 orar e
fxia gfe Sy &1

Or N

What is meant by Ploughing Back of Profits'? Discuss the signifi-
cance from the point of view of Compariy-shareholders and society.
ATl B YA BT T AR &2 B et aor T a6
gfte | $qa a1 STARar &7 fagHT iR |
» . Unit -1I0

From the following data, cdlculate 'activity ratio’ and 'efficiency ratio'
A factory manufactures two products A and B. Standard time to manu-
facture product A is 2-(&%o) hours and product B 10 (Ten) hours. The
budgeted and actual production in December were as follows:

%7 gEell 9-SnER OR “fbardiier’ ST ‘GRIeTd’ SIUI &Y TR
BIR | T BN § A U9 B <1 AR T Faior fpan S 1 A &
fore yHIff a2 ©ve 91 B & fow 10 goe ¥ RuwR A §

IR 9§ golc ST A+ YHIR o : b

Budgeted Actual
Production production
Product A , 125 units 100 units
Product B 30 units "~ 20units
Total actual hours worked were 660. '
Bl IR<IAD P T9T 660 HIE 1| -

\ﬁhat do you mean by the term 'Budgetary Control'? List the advan-
tages of a good budgetary control system to an organisation.
‘Joic A= e AT T TG B? Th WA F I quie

T YT @ 3T 9vie IR |
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